Name AP Chemistry
Chapter 9 CD lab

Directions: Use the information obtained from sections in the chapter 9 CD to answer the following
guestions.

9.1 <= Molecular Shapes

1. What is the VSEPR model?

9.2 “ =~ The VSEPR Model

2. What is the VSEPR model based on?

3. To determine the molecular geometry (or shape) of a molecule or polyatomic ion, we follow a four-step
procedure. Write the procedure.

a)
b)
c)
d)

4. Answer the questions in the section and place your answers below;

Questions

“What 15 the shape of the ammonium ion?
O souare planar

O trigonal pyramidal

O tetrahedral

O octahedral

n “What 15 the shape of the ICl, molecule?
O T-shaped
O trigonal planar
O trigonal pyramidal
O bent



9.3 <= Polarity of Polyatomic Molecules

5. What is a bond dipole?

6. Describe the polarity of the CO, molecule.

7. Describe the polarity of this Lewis Structure. Cl

8. Question

Which of the following molecules is nonpolar?
O CH,C1

O cay

O vH,

O HO

9.4 < Covalent Bonding and Orbital Overlap

9. What is valence bond theory?

9.5 “* Hybrid Orbitals

10. What is hybridization?

11. Explain the hybridization of electron domains in the molecule BCls.

12. Explain the hybridization of electron domains in CH4. Complete the electron configuration diagram and
draw the structure. Click on the diagram to promote an electron.
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12 con’t

Draw methane

13. Draw the hybridization of electron configuration for PCls
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14. Watch the video and answer the following questions.

a) What do you get when you mix an s orbital and a px orbital?

b) What do you get when you mix an s orbital and a py and py orbitals?

¢) What do you get when you mix an s orbital with all three p orbitals?

d) What molecular geometry is formed when the hybridization in question c is formed?




15 Questions

What is the hybridization of the orbitals on carbon in
carbon diozde?

©

O

O 7

O spd

What would be the hybridization of nitrogen in the
arnrnomu 1o’

©®

O

O 7

O spd

9.6 = Multiple Bonds
16. Use information from the introduction and consider the molecule C,H,.

a) What is a sigma bond?

a. Where does the electron density reside?

b) What is a pi bond?

a. What does a pi bond consist of?

17. What makes up a double bond?

18. What make up a triple bond?

Go to the companion website and use the following logon and password
Logon: molearyl1717

Password: William

Try HW 1 and 2 and send e-mail your results to:  moleary@forestville.wnyric.org









